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Formula of Copper Glance is : P Uk gf 1 1/1Ulr
Cu25 (D) CuS, () Cus (B) CuFeSy  (A) (1) =
0ol o Gl L SP 2 v s 3 (@)

Which of the following Gas is used to destroy harmful bacteria in water :

Bromine  (Zsz (D) Chlorine q»{ (C) .Fluorine d/}f’ (B) lodine /371 (A)

The maximum Density of Water at 4°C is . : Jn (5”’5 bl wsli g 4% d’ dst. (3)
1
0.973 gem™ 4 (D) 1.2gem” . (C) 0.97gem” . (B) 1g (A)
Fish gills clogs due to high concentration of : : ‘L(IJ/J}. )( Z Uk «f: U'uf 2y sk (4)

Chromium (-fu( (D) Aluminium r‘?ﬁl (C) Mercury /7 (BY Lead 4/ (A)
?.8/ hﬂf.r'dJ L‘fra—d:di.yﬂ - .f},.f

[

2 Yl ' Ui P d/ qu/.' (5)
Buildings are being damaged by Acid Rain beacuse it attacks

& .
Calcium Nitrate .:c}'t(:g (B) Calcium Sulphyfe ._‘o_W(a-'( A

Calcium Oxalate .:«:"/‘ (é‘—f (D) Calcium Carlfonate .Ag,f_z‘sz-%-’( © :
Identify which is not Primary Pollutant : D Gest ‘gu.‘f. Jff:;id/"{ wy (6) ‘
HNO, (D) s0, co (B co, (W
Which One of the following is Tasteless : e 117 Lol < & Sioar i (7)

Starch  @.& (D) Fructose s (C) GlAcose P (B) Cellulose .k (A)
< ,aJLnf’.i/}.ﬁ(ufu!/;;éwijy,p, (8)

In the Bromination of Alkenes, the colour is dj harged at once due to

L -

Conversion of Triple Bghd to Double Bond de o s = 2l (A)
Conversion of Doubl¢ Bond to Single Bond &4" . ,‘cg‘){" < 24 (B) t
Conversion of Triple Bond to Single Bond J_’_ X ,’cwﬁ’ < *J7(©)
Conversion of Sifigle Bond to Double Bond J"_/; L E = fcgdﬁ’ (D)

The General Formula of Ester is / |<'> ° Coe b 2 ¥ JOW RN )]

’ Il
RCHO (D) R-C-OR (C) R-C-K (B) R-O-R (A)

Coke is : : e S s (10)
40% Carhon (i 40% (B) 60 % Carbon i 60 % (A)
90 % Catbon (/K 90 % (D) 98% Carbon i 98 % Q)

Stearic Acid is found iy : Coatl U ;/.;J/:.« (11)
) Grapes AKX P (D) Apple % or (C) Fats ¥ (B) Urine (&t (A)
Reverse Reaction ig/one : Y dl’{ld/wz/ (12)

ch proceeds from left to right ‘Lbn(',’l:qlgu:’bc,ufl., 2 (A)

which reactants react to form product uj‘Z_b._‘/)‘:{éf e IS i) 8 ) LU (B)
Which speeds up gradually e by Ciir (<€)
ﬁ Which slows down gradually :‘.t‘:f."/,T({]u‘J: 2 (D)
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Note : It is compulsory to attempt (5~ 5) parts each from Q.No.2, Q.No.3 and Q.No4 and attempt any (02)
Questions from Part II. Write same Question Number and its Part No. as given in the Question Paper.

I 30 =2 X15| » | Make Diagram where necessary. T (Partl) JiLo y,

() 24y
W6 (i)

What is Static Equilibrium ? Give example. Ee e S ﬁ-’/d;f f
. . 5 & »
Write two Macroscopic Characteristics of Forward Reaction. -é:;’d v.‘.'v‘L'l}“, .{,6/9 » J u"zld/

What is the importance of Natural Gas? fe ol g’ J (3;,3 (i)
What is the difference between n - propyl and Isopropyl? ?c;_J/' t[ o J’g;{/f ) J:L;;JA: (iv)

Justify that Organic Compounds are used as Food. - lnJe g 8 L S L‘cikfv@’/f [ Ghesls (V)
g iy e USSEAja Kfiad B rn (Vi)

Compare Homocyclic Compounds with Heterocyclic Compounds. :

What is the difference between Glucose and Fructose ? ?90. L[ 2 J;f} 2 u(r( (vii)

: e (e s Z P30 il :

bl s () 34y |

How many Aminé Acids are synthesized by Human Body ?

Briefly describe the formation of Petroleum.

Write the name of any two Metallurgical Operations. e rt& f‘-{ﬂfﬁﬂ” » :.Jf (ii)
Write the name of any two fractions of Residual Oil. -é.“!d /il ,:E/ 2 Jf g J/ngjé'{/ (iii)

446:.13»-24 » & STd (v)
B 9 Sl sl a8 (V)
SrLud b1 £ 38 (vi)
et g AE i
_'4’“ e W 9y £ S T2 aradieKoa (Vi)

Py v 1 £ I £ €O, CO (i) 4y
How does Acid Rain increases the Acidify of Soil ? ?4",8):5(21 S G i J 0P, C/)’g// LA (i)
s By § o3 eud 50, ¢ #L w2k Lin il

What threats are there to human health due to § > Gas as Air Pollutant?

Write two uses of Fuel Oil.
Write two examples of Closed Chain Hydrocarbons. -éf.‘fa

Why Alkanes are called Paraffins?

What are Complex Salts ? Give an example.

Write two uses of Magnesium Hydroxide.

Write the major sources of CO and CO, Emission.

What is Ozone and Ozone Hole? ! < y’ rrwaist sl gaist (iv)
i Why are Non - Polar Compounds Insoluble in/water ? ?Lnu.‘.‘}u;:.( S chit;r Jgub e dg (v)
S V¥ ) (vi)

e i UBb (vil)

Day by Day? Sl 31 gaeh i S £ S (il

What is the function of Fertilizers?
What is Fluorosis?

i Why is the use of Detergents increasi

3
18= 2x9 (Part II) foe
f G) =1+4 e 6l par Sy e L ydsny ¢ ur Y pad sy () 54

What are Proteins ? Give any four sources and uses of Proteins. -
@ =1+3 e thidd LEVEAEI LS S w S FEIG ¢ el EVEASET ()
What is Equilibrium Copfstant ? How it is helpful in predicting the extent of Chemical Reaction?

i  (5) 285 yaphinl s gU 2608 AL NaOH L fsuir () 6,0

B

Write down the Chepflical Reactions in the form of Balanced Equations with NaOH of the followings :
FeCly (e) ZnCl, (d) NH/Cl (c) FeSO, (b) CaCl, (a)

;AR

(4) Write four effefts of Water Pollution. -’4’6 Yy v z gf)',/'l: ()
-’{;ul&: d/ d,,f, g sl J‘:},’JK J Jud?/! 2l é;‘,’a )’.ﬂ ] &fl«.)p ()] 7/1‘.1)',’

Materials of Solvay's Process. Explain Carbonation of Ammonical Brine

i
i
:

(5) =1+2+2

and Redovery of Ammonia.

t (4) Write four physical properties of Alkynes. ﬁ -'46 ék"‘é ‘fb i g S ()
F Ve ffA -~

S el a1l YAy 4
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For the following reaction, the expression for the Equilibrium Constant is 1)
2A, . +B e 3C
® @© - (e
[c]’ [sc] i
3 g A B
- o LBl o [AlIB] g
[a)°[B] [2a][B] [c]
What is the pOH of a 0. 02M Ca(OH)2 - c"-k’/POHb(cfv" Ca(OH)ZO-OZM 2
12.61 (D) 12.31 (C) 1.397 (B) 1.698 (A)
Identify which one of the following Compounds is a Ketone : & < i Ule /’fcﬁ;f Sioer S 2‘: «3t2 (3)
(CHj3), CHCI (D) (CHjz), NH (©) (CHy),CO (B) (CH4),CHOH (A)
The Coal having 90 % Carbon Contents is called : {.b‘l}zf 03 T Lst 320 4l 2 L s 90 % A N7g S @
Bituminous U3 (D) Anthracite i) (C) Lignite / 240 (B) Peat g (A)
L U X e bl b g LS LIS Jrfif P\ AL L X gk (5)
One of the Hydrocarbons reacts with one mole of Hydrogen t¢/ form a Saturated Hydrocarbon.
What could be the formula of the 'X' ? C,Hye (D) 4H10 (€@ CgHyp (B) CjHg (A)
The formula of Palmitic Acid is < Ui ¥ M‘M\% (6)
Cy5H;3COOH (D) CygHgCOOH (C) /CpyH3sCOOH (B) Cy5Hy COOH (A)
Thermosphere Layer is at height above Earth's surface & ¢ ek o C/ J i j-:.' /’tl’ r‘; 7
12-50Km  X¥12-50 (B) 0-12Km  x¥0-12 (A)
§5--120Km <¥ 85,7120 (D) 50-85Km  <¥50--85 (O) !
— e i —
Sl b A o e L & STk e (8)
How much Atmospheric Temperature ingreases every year due to Accumulation of Carbondioxide in Air
0.013°C @) 0.00°C (© 0.05°C (®) 0.01°C (A
eV Ly S Al 2 EE0O)
Depending upon Temperature Vafiation, atmosphere is divided into how many regions :
4 O 3 (© 2 (B 1 (A
: q_ﬂk 5/& ol f}b A (Jf = Ufgjj.?/ﬂ (10)
Which one of the followidg Salts, makes the water permanantly Hard :
CasSO,/ (D) Ca(HCO3 ), (©) NaHCO3 (B) Na,COq (A)
Which one of following Ions cause hardness of water : ! g..t& 2 g J:.LQ/": FTU ek AT Jimeri (11)
Na' @ R © Mg® ® A’ @
Which one of tie following is not a fraction of Petroleum : 3 @ o uig/ J K:/f(- S et Sianr (12)
petrol/ st (D) Alcohol ¥ (C) Diesel Oil Ty (B) Kerosene Oil JTuzid (A)
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Note : It is compulsory to attempt (5 - 5). pirts each from QNo. 2, Q.No.3 and Q.No4 and attempt any (02)
Questions from Part II. Write same Question Number and its Part No. as given in the Question Paper.

l 30 = 2"15’ Make Diagram where necessary. -u:'bso“'fxd/;ﬁuge (Partl) ())L" B "'ﬂcL"’h

What are Reversible Reactions ? Give example. - XY 1 WKl ) 2 Ay

Define Chemical Equilibrium State. -2{.4/ J g ﬁ,’d,f L4 (i)
Define Condensed Formula and give example, <& Je ’é’: .4/7 J V3o W gl &J (iii)
What are Benzenoid Compounds ? Give example. -0 R Y AV ;l;f Kbz (iv)
Write the use of Peat and Lignite. ( -Z({JW! _»’w' sl &g (v)

..é,‘f’g Yssls (@:Lq!d: < l[..;«;/ﬂl (vi)

What is an Ester Group ? Write down the formula of Ethyl Acetate.
- e ilne X e o pucfiitaiu i
How Amino Acids are bonded with eachother ? Write chemical equation,
I e S0 SOkl 6 sl Gyt (i
What is meant by Essential and Non - Essential Amino Acids ?
Write two uses of Magnesium Hydroxide. -5{/‘.

et 9y £ 42S Tu},fh..:,.:‘,;f_., (i) 34

“Ededl AR G |
Y 2- AT GO Y I 5 S i
e 5 IS (iv)

ey, £ S v) !

_’4th A5 sdf d Srdy i) ‘

s Bk, i (vii) |

o WA iy

edpd e Unoni () 4

S Fud s b g (i) ‘
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Write the names of two Acids wifich reduces the PH of rain water.
Define Waste Water.

What are Complex Salts ? Give an example.

Why Alkanes are called Paraffins ?

Write two examples of Closed Chain Hydrocarbons.
Write two uses of Fuel Oil.

Write the name of any two Fractions of Residual Oil.
Write the name of any two Metallurgical Operatio

Briefly describe the formation of Petroleum.

What is meant by Ozone Hole ?
Why is Ozone depleting in Atmosphere ?

How is Acid Rain produced ?

B/ e )
e ' UF (vi)
e |f u-'*’esf (vii)

What is Dysentery ?

What is Hepatitis ?

What is the Chemistry gf Swimming Pool Cleanliness ? ?‘¢§f u’,'/{ e &AL S g J_g.ﬁ’y (viii)
(
(5) Describe the uges of Carbohydrates in our body. -2;{% = Yl Lu’&fﬂp( utﬁ_,m () s ,-f‘_,'!yi
1(4) Explain Revefsible Reaction with the help of example. T J S sy audJe ()
) ©) & b2 £ enafiduny £ g, AL fizir £ NaOH (i) 6,41y
Write balance chemical equation when NaOH react with following compounds :
FeSO, () CaCl, (d) FeCl, (g ZnCl,  (b) CuSO, (a)
@) Wyiie any four properties of Water. -a&’d ..-,'Lfr"‘ v Q’Jf g d& (&) ;
/ Gl o (B3 s by g 9 7/
©) el e pUES BB S bl i LA Ly (L) 7 ]
’ Aow Urea is manufactured ? Explain showing the Flow Sheet Diagram. -
7|4} Explain any four physical properties of Alkenes. .."éwl«'n J .p_l,or"d)’ /e vy g S ()
--------- Fe e A e |
*rH-03~28 p




